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Profit

[AEM403] ---------------- means exploiting existing production technology to the greatest
extent possible.
Efficiency

[AEM403] Which of the following discipline is not a social science?
Computer

Opprtunity Cost

[AEM403] Which of the following is not a problem of Economics?
How to consume

[AEM403] Agricultural economics can be defined as the application of economic ----------
--------- to the agricultural sector.
Principles

[AEM403] The agricultural industry is in no doubt enjoying the inputs of agricultural
economists in the management of ------------------------- on the farm.
Scarce resources

[AEM403] ----------=------ is facilitated by scale of preference
Choice

[AEM403] Resources must be adequately managed for achieving organizational----------

Goals

[AEM403] Examples of scarce resources include the following except -----------
Air
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